m SERVIT™

ECOMPONENTS
REF. § *10 A
1 2
2 4
3 4
4 2
BHARDWARE BAG
BEE. 4 QIY,
E1 22

E2

E3

£4

ES

£6

1B

22

12

32

32

Scraw, 5/16—18 X 3/4

Washer, 5/16

Mut, Keps 5/16—18

Washer 5/16

SCREW 1/4-20 x 3/4

Nut, Kepe 1/4-20

=T
BASE ANGLE WELDMENT
CORMER/RACK MOUNT RAIL
DEPTH ADJ. CROSS CHANMEL
TOP BRACE

-
l ML '|'||'||||

|||| 111 IIIII I'l

O
i@%

SUOITONJISU]
JIIqUISSSY

Attach Top Brace@te Raock Maunt

Huil(%)usinq Screws @ Washers @

and Nuts(gz). See Fig. 1

RACKT

Technology Corporation

1.B00.616.3%34

www.RackitTechnology.com




HSTEP7

{(Mounting Rack ta floor)

To support the Moximum 1500 Ibs. lood rating requires
the Rack to be anchored to the floor before looding with
equipment. Place the Rack in the desired location end mark the
floor mounting hole locations onto the floor. See Fig. 5 for
mounting hole locotion. Use the recommended hardware shown
below dependent wpan floor siyle.

Elgi=

=T &
g A

15.00

=

H . - B

.
-—— 1200 —————

» BASE ADJUSTABLE IN 1/2" INCREMENTS
UP TO 17.50 IN {21—-26) DEPTH
UP TO 21.50 IN (27-32) DEPTH

HARDWARE RECOMMENDATIONS
(Not Supplied)

A. Wood Floor
qary, DESCRIFTION
4 3/8-7 x 2" Hex Heod Log Screw
4  3/8 Split Lock Washer
4 3/8 Fendsr Washer

B. Concrete Floar

ary. RESCRIPTION =—8
4 3/8-16 Concrete Anchors “acult

4 3/8-16 x 3 1/2" Studs Technology Corporation

4 3/B-16 Hex MNuts

4 3/8 Split Lock Woshers IH[”]'EHEHLHI'I

4  3/B Fender Washers www.RackitTechnology.com

1547 =03



BSTEP &

(Attaching additionol Racks)

Attoch Racks using Screws @ Waoshers and Nuts @ :
(6 Places) See Fig. 4.




uSTEP 2

Attach Base Angle Weldment@tn
Rock Mount Roil soyusing Screws =,

Waahers@and s@. See Flg:
(T NOTE: Base Angle Weldment@
»
®

installs as shown ta reduce foot
print. Angle may be installed in
opposite direction to hove mounting
holes for onchoring on ocutside of
frame.

;

3
Repeat steps 1 & 2 for
opposite side of rock.

m STEP 4
Attoch Adjustable Cross Channel
& Frame Assembly to desired depth

using Screws _ , and Nuts _ .
See Fig. 3 &(@3h. €9

(Adjusting rack after assy.)
To adjust depth af | | rock remove
Screws , Nuts ond Cross
Channa & EE—@E’[{:II at desired

depth. %89 Fig 3 & 3A




